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X=X, +yt+iat?

t

Vo +V
X=X, + °2

v=y,+at

vZ = +2aAx

0=0, +wyt+iect?

0=0,+ Tt

w=w, + ot

w? = ou02 + 2e< A0

V=rw
a_t = o<
2
8 =7
a, =rw’
1=
-—SF
—2.
F,=mg
Fs =k|x|
_Gm
g="
F=mg
F:Gmfb
r
f; ::uK I:N
fSMAX POSSIBLE :ﬂs FN

T=FxF
t=rF

I =mr?
I=1,+md?
W =F Ar

W =F-Ar

W =7A0

W =-AU

du

Y

W =AK
p-dE

dt

P=F.v
J=FAt

I8
%=—(2m")zx
X = Xra COS(277 £t)

V ==V, SIN(27 1)
a=—a,,, cos(2x f1)

Viex = (27T F) X e
Ay = (277F) X e

T:ZE\/g

m
T=2x K
1
F=l
=
Oy 13y
x> v? ot?
Y= Voo €08 (ZE x
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_A_r
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vV = T
_m
H=1

8/14/07
T o< (Amplitude)?
fI;EAT e — f|:ow
4 + Ve

V+VS

!

m, =m
Avi = A,
P+1ov*+ pgh=constant

N

Q= mcAT
Q=m/
AU =Q—-Ww

Trigonometric Identities
(sin@)® +(cosH)? =1
2sin@cosd =sin(20)

Constants
g= 9'80% (near earth)
m
a, = 9.80?
2
G=6.67x101 N-M
kg

m. =5.97x10*" kg
re =6.38x10°m

I, =1.00><1o-12%2

v —343%

sound —

1.000 atm =1.013x10° Pa

kg
Oy =1.00x10° =

1.000 cal =4.186J

Cwater = 4186 J
kg-C




Calculus-
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& =€, SIN(2711)
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U=1cv?
C=xe —
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Cs_l 1
7_1’_7
C, C,
C,=C,+C,
7=RC
V=£60-e")
V=V e'"

I=1,e""

27

mA =dsiné
(m+3)A=dsing

mA =wsing
mi, =2t
(Mm+3) =2
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| =1,(co)?
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n=-
4

n, sing,

sing, =—=

=n,sing,
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I(cosx) dx=sinx

I(cosx) dx_)z( Sin 2x
dx , l+sinx
I :5|n -
COo<X 1-sinx
dx
I ~ = tanx
(cosx)
dx ( /—)
I—m—ln X+ X2+a2
x* +a’
e
Xdx X [
Rarar
%Zln(x+\/x2+a2)
ILZLL
(x2+a2)% a’ x> +a’
xdx _ 1
(x> + az)% x* +a’
xX*dx X N
(¢ +a2)?  x+al
In(x+\/x2+a2)

dg= Adx

Je - Kda kdq

di =Ho lTHROUGH+ Ho
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€ De

1le=1.60x10°C

1
4re,

k=

k=899x10° VM

CZ
N-m
T m

€, =8.85x 102%——

wy =47 <107’
N, o =133

m, = 9.11x10 *kg

m, =1.6726x107"kg

c=3.00x100™

<=

N, =6.022x10

2

particles
mole
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